ANIT| PAMIMVE TYPFS <
" Syntax ->1he Contect iow 10 fype the coge 80 that the program will un
- primifives = int, boolean, doubie
- [eference - string ,random
- constant = vawge does not cnange (keyrord *fina1*)
~milvs examples
I D)
D0°/0 20= D — %02 OF An eYeN nUM =0
w3l %02 ofjan odd num =\
AIEL]
5012.0:2)5
*dipeaniting examplES
inta=9; i b=
douple ovg = (dwble)a/b;
2 manualty rounding adecimal o nearest int:
dougle foondMe =53.b
int resuit = (nf)(mondMe +0.5) —> making it an int gels rid of the decima

UNITZ USING OBIFCTS:
-¢lass - blueprint for constructing opjects
-0D)6ctS - Created vsing the class tnat nolds 1ne blugprint of e piject , contoins any
4 0F congtryciors, referred 10 0S an instance of the class
-siring variaoles are djects
-$mpty vs. ul
empty - ", 1engin 0F 0
IE T

- Spaces couni as Characters

- String concaienatlon examgles

.equals() = mewnod 10 ompare 2 Sirings

* (ompareTol) -0 - 2 Sirings are exactly the samb
neg - first siring comes before the Send string
pos- fifst Siring comesafier i second string

“Upper CSE IEHETS (ome befurs Iowertase

" 1ength() meihod = returns the numier of characters ina string

AP COMPUTER SCIENCE A

LINIT3 BOOLEAN + \F STATFMENTS:

= 0.Companison of Z vaues using a relational operaior

ANITY ITFRATION:
“Iieration - repeating a Statcment More than once
£ 1009 —> WNEN YoU kNoW how many Himes You Want 10 do A 5t of instructions
~ e variabié Inside the for 1oop 15 N0t Knprn AFKET loop exits
WLt 100D ~> can Yse avariakle 0f any Aatd type as long as it is deciared befre

UNIT'S WRITING CLASSES:

“instante variables - the virudl attributes that descrive an object of a Class

- privaie insionce varioies - other asses do not Nave access 10 the daia Stored in
the variabig wihut aSking the Object to provide it

V0idl metnods - methods. that Simply onty perform Some Aciion,do not UM avale

- [EAUPN metinnds — rejuen the dada type Aefined in the method Signafure

- PUiplic method = ofher objeds from ofher claSses an use it method

“privaie methods — oniy GeeeSSibie within the Class

-10Siring ) method = Shouid usually be overriden, relums a meaningful
Tepreseniation of the pitriputes

“Teference varinlé — noids the memory adaress OF G Soon to e crended , doesn+
hld the Object itself
“aliosing, = when £ ditcerent Object reference variaies contain ihe same nOdress
Of an Dbjeck
“NUNAINIEPEXCEPNI0N == occurs wnen You adtemgt to perform a metnod on o eference
variapie that is nun

-Querioadéd efnnds: => pave the Some name and A diteerent return type, but o giffer
- difterent numier Of parameters
-SOmE_number 0f parameders bul Adieast one is aditrerent type
-Sme Cx0ck PAAMELEES koo in dif orders

“Stotic Lariooles —» a Singie py Of rhe yaridkig is creaied nd Shared Amang al 0pjects

(i & Class level

-Sodic merhods —»can only cal other Satic meinods and can onlg Use 0 moaify

Static variables, canmotcess orehangg the VAILES OF e instancs
Variapies O ¢t non -Stafo varapies in1he class

ANIT o ARRAY:

= Complex A StmCure beCause 11 can 81078 Q. fist of primitives b pbjects
“ach element can b referenced by an index
“the numiger of Xments in an drmay Will S1y the Sime, can't bt (esized
- 00N Use._.1ength 1o find fne OO Eiements in an amay

“ e, valld inde VAIueS fOrn aray 0r€ 0 througn | €55 an the 4 of tlements



-ndex0F () metnod = feturns the index of a enaracter in @ String , -1 if charcter not found

- SUbstring L) mefhod = Used o extract & speafie Charcier DT G00UP OF Charicters from a String

- StringIndexOuiDF BYUndSException - using an index that is greater tnan o equal 10 ne iengt of a SIring, or o neqatve index
“ M- A0S(X) = AoS0Ie volue

“ a5 (x) = Square, root

“Maih. POW( X, y) -2 raises number 10 Specified exponent

- M. random()-> retoms @ fandom  doite C0.0,1)

ANIT? ARRAVUIST:
“ OfmayList = 0.00mplex i structure ha ARONS You to ad or remove. Dhjects fram o List ,chandes Size
auidmatioally
Arvaiylist < daarype> nome = new | Arrayist cdaatype > ();
-Sizel) = returns now many elements are in e Arayust
-0 (E ogject) ~appends the Dg)edt 10 e endl OF the 11st
-0dd (int index, £ 0lgject) > ingerss e 0bject int) tne position index
- femouelint index) - deletes the dgject from e list thot is at Indlex,, retums tne olject
-Qe(int indiex) ~* retums the oigject G\ index
-Set(int Indey, E object) - repioces the Object af index With Object

ANITID RECORSION:
= amethod that caus itseie
-Qll (ecUrsive mesnods must nave & base case and a recursive call
Lyconfinues ontil the base case iS Satistied
- uSes fecurSion ; fepeatealy divides the NUMbers info 2 groups
undil itoan't do if anymore. Next the algorthm ménges the Smatler
9roups fogether and Sorts tem as it joins them. the process
repeats unil all groups form one group
> taris at the middie of Asorted Array and climinaies nalf of the
aray in eath iteration until the desired vawe is fund oral
clements nave been eliminated

RANDOM:

* (dogple)(3/4) = 0-0

=~ mave througn each SIoF in the Aoy, ong o  fime
= [foroHes tnougn ach 0F e ¢iements In e, array, temp varave likes
0N vake, for each Element

UNITS 2D ARRAY:

2D ffnay — Can be visudiizzd 0 fectangular gridmode up of fows and Columns

“OrT.1ENgth — gets number of rows
-0reLo]- 1end)th = qets numoer of columns

ANIT 9 INHERITANCE -
-Ghild Closses innerit the {nslance variailes and meinods of the parent closs
L> the Child Class con onty ACeSS the private instance varidbles of the parent by using
the 0ccessor andl mutator metnods from the parent class
“{ne instance variapies for tre parent and the instance variabies fof tne child are, 1wo
difrerent gets of instance variaoles
“ehild oloss extends parent ¢lass’
0,005 can extend at mosi one orner Class
 SUPLL() = CAlIS the parent construclor, must e Pirst ling of code
- Nb panameter construcior mOkes o call {o the parent's no-parmeter oonstructor
* parameter construcior alls the parent's parameder constructor
- pblymorpniS ~ different Child classes of the Same parent Class oan act differently
- Querride - Keep same metnodl Signature, Cnanag the (erum /output
- the reference variapie can oe né parent of a child alojeck
* 00N oAl né parsnt eIass method by using super
super.cat()
“0pArent can’t pertorm any of 1 methods that are unique 10 o hild olass



